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19. Suppose that for events A and B, P( ,-I) =04, P(B) =0.3, and P(A v/ B) =0.5.

a. Compute P(A|B)
b. Areevents A and B independent?
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26. A restaurant serves three fixed-price dinners costing $12, S15, and $20. For a randomly
selected couple dining at this restaurant, let X = the cost of the man’s dinner and Y = the cost

of the woman's dinner. The joint pmf of X and Y is given in the following table:
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a. Compute the marginal p

b. What is the Embabmty that the man $ an

Are X and Y independent? J ustlfy yuur answer.
What is the expected value of the total cost of the

the woman” s dinner c{lst at

st $15 oS
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e. Suppose the when a couple opens fortune cookies at the conclusion of the meal, they
find the message “You will receive as a refund the difference between the cost of
the more expensive and the less expensive meal that you have chosen.” How much

does the restaurant expect to refund?
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W= weatherman Sads riwn

28. Marie is getting married tomorrow, at an o tdnneremymthdmtlreentyear it
has rained only 5 days each year. Unfortunately, the weatherman has predicted rain for
tomorrow. When it ac tull}ram the erman correctly forecasts rain 90% of the time.

When it do sntramh e incorrectly forecasts rain 10% of the time. What is the probability
that it will rain on the day of Mare's wedding?
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24. The average number of homes sold by the Happy Homes Realty company is 2 homes per
day. What is the probability that exactly 3 homes will be sold tomorrow by this company?

X~ Posson, (A= 3)
P(X--— 2_) = dPois ({3__,.2.)



16. A distribution of grades in an introductory statistics class (where A =4, B = 3, etc) is:
X 0 1 |2 |3 |4
P(X)|.10 .15 | .30 | .30|?

a. Find P(A=4) j
b. Find Pl<X<3) = P“ﬁYf.z.) = P{X'-n = P(i"‘z)

c. Find the mean grade 1n this class.
d. Find the standard deviation for the class grades.
e. Find the lowest grade X such that P(X > X ) <0.5

e EDT=000)% 1(a9) +2(.Dr3(3)+4(5)
d. E[x*] =0(D)+ 1{1EWY (D93 1, (15)
Vor [X]- E[x*]- E[x]*
&= Wt

e. PGrz4).. 5 P(xza)=.78

[P(x23) - 4\
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17. Suppose you have a distribution, X, with mean = 28 anqrStandard deviation =2.1.]) Define a
new random variable Y = 2X + 1

Find the mean of Y. EE = E. X +I = 2tlXd +
Find the variance of Y. Yy = X+l = I.I Y IKJ
(o

Find the standard deviationof Y. 4 %
LetW= X + X for X in the above problem. Find the variance of W.
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3. Joe Dimaggio had a career batting average of .325. What was the probability that he would

get at least one hit jn flve pfficial times at bat?
—

n"p

P(x21) = )= P(X=0) = |- dbunrm (0,5, .325)
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